INDIAN SCHOOL AL WADI AL KABIR

Department of Mathematics, 2020-2021

CLASS: XI Chapter -2 — Relations & Functions 29-06-2020
QL | A={(a,b)/b=2a-5} If (m,5) and (6,n) are the member of set A then m and
n are respectively
A 5,7 B 7,5 C 2,3 D 53
Q2 | 1f S,=1{1,2,3,....,20}, 8,={a,b,c,d}, S,= {b,d,e,f}. The number of elements of
(S,x 8,) U(S,x8,) is
A 100 B 120 C 140 D 40
Q3. | Let R be a relation in N defined by R={(1 +x, 1 +x?}/x <5, x € N} which
of the following 1s false ?
R={(2,2),(3,5), Domain of Range of R =
A (4, 10), (5, 17), (6, 25)} B R={2,3 4,5, 6} C {2, 5.10, 17, 26} D |B&Caretrue
Q4. | If A is the set of even natural numbers less then 8 and B is the set of prime
numbers less than 7, then the number of relations from A to B 1s
A | 9 B |3? cC |2°-1 D 2
Q5| Let R be a relation on N defind by R = {(x, y) / x +2y = 8} The domain of R is
A {2, 4,8} B {2, 4, 6, 8} C {2, 4, 6} D {1, 2, 3,4}
3
Q5. | Range of fx) = :34_1-—?1 "
x4+ 2x -7
A [5, 9] B (5, 9] C | (-0, 5]U[9,®) | D | (-0, 5)U (9, )
QT af [x] stands for the greatest integer function then the value of
[L+_I__]+[L+L].+ +[L+&];q
5 1000 5 1000 T 5 1000]
A 199 B 201 C 202 D 200
Q8 | If f(2x + 3y, 2x - 3y) = 24xy then flx, y) is
A 2xy B 2(x*—vy?) C (x*—vy?) D None of these
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Q.9. _ x={x] o
Let f(x) = T+ r-[x] where [x] donotes the greatest integer less than or equal to
x then the range of f is

A [0, 1] B ) c [0, 1) D 0]

Q10 | The domain of the function f(x) = l is
: .,ﬂ X|=x

A (-00, ) B (0, ) C (-0, 0) D | (-0, 0)-{0}
Q) Domain of JZZ 22 (2> 0)is

A (-a, @) B [-a, a] C [0, a] D (-a, 0]
QL2 | 1t [xP - 5 [x] + 6 =0, where [ . ] denote the greatest integer function, then

A x € [3. 4] B x € (2.3] C xe [2.3] D xe [2.4)
Q.13 | If f(x) = ax + b, where a and b are integers, f(—1) =—5 and f(3) =3, thenaand b

are equal to

Al a=-3,b=-1 B a=2,b=-3 C a=05b=2 D |a=2,b=3
Q.14 1

The domain of the function f defined by f(x) = \f4—x + sz_—l 1s equal to

A | (e, —1)w(l,4] B | (—ee.—1]u(1,4] |C | e -DuU[L4] |D | e=-Dw[L49
Q.15 ] ] 4-x ) )

The domain and range of the real function f defined by f (x) = L_g ls@ven by

Domain =R, Domain=R — {1}, Domain =R — {4}, Domain =R — {- 4},
A B C D
Range = {-1, 1} Range = R Range = {— 1} Range = {-1. 1}
Q16. | In each of the following cases, find @ and &.
£l
() Qa+ba-b)=(83) () (}""_23’] =(0,6 +5)

QL7 | GivenR = {(x.¥) : x, y€ W, x2+3* =25} Find the domain and Range of R_
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Q18. | HR ={{(x.y)|y=2x+7,wherexe Rand—5 <x< 5} isarelation Then find
the domain and Range of R,
Q19 | Iz g={(1, 1), (2, 3), (3, 5), (4, T} a function? Justify. If this is descnibed by the
relation, g (x) = ox + B, then what values should be assigned to ccand p?
Q20 | Find the domain of each of the following functions given by
) S0 i) £ = T
JJTM -1
Q21| Findthe range of the following functions given by
: 3 }
B f@=5— @ fE)=1- [x—2|
Q22. x—1 1
1ff(x) = —— then show that / (2] =7
x+1
Q23. 1
Find the domain and Range of the functs = :
e domain e o on f(x) JE
Q24. b
If fx)=y= , then prove that £ (3) = x
cx—da
1 1A 2 | B 3. A 4 D
5 |C 6 |C 7 | D 8 C
9 |B 10| C 11 | B 12 |D
13 | B 14| A 15 | C 16 | o2 aas-2
n 3 3
% a=0,b=-2
< 117 | D=R={0,3, 4,5} 18 | D=[-5, 5], R=[-3,17] | 19 |a=2& B =-1 20 |R*, R-{-1,1}
21 | B, o0) , (-0,1] 22 | To prove 23 | D=(5, ®) R=R" 24 | Toprove
2
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